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2019 XYZ Data-Taking

* Can we reduce the plan from 5 to 3fb−1?

Charmonium Meeting
Ryan Mitchell
July 3, 2018
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ORIGINAL ALTERNATE I

500 at 4130
500 at 4160
380 at 4280
500 at 4290
500 at 4300
500 at 4320
500 at 4340
500 at 4380
500 at 4400
500 at 4440
—————
TOTAL = 4880

250 at 4130
250 at 4160
380 at 4280
    0 at 4290
250 at 4300
250 at 4320
250 at 4340
250 at 4380
500 at 4400
500 at 4440
—————
TOTAL = 2880

ALTERNATE II

    0 at 4130
    0 at 4160
    0 at 4280
500 at 4290
    0 at 4300
500 at 4320
500 at 4340
500 at 4380
500 at 4400
500 at 4440
—————
TOTAL = 3000
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